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Go in XiaoMi
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Why Go

¥ & & 3¥: one connection per goroutine
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configAtomic atomic.Value

config, err := NewConfig(confType)
config.Load()
p.configAtomic.Store(&configWrapper{config})

¢ := p.configAtomic.Load()
if ¢ == nil {
err = fmt.Errorf("invalid remote config instance")

return

}

configWrap, ok := c. (xconfigWrapper)

if lok {
err = fmt.Errorf("invalid remote config instance, type not xconf
return

}

return configWrap.config, nil




switchIndex util.BoolIndex
namespaces [2]xNamespaceManager

current, other, _ := m.switchIndex.Get()

currentNamespaceManager := m.namespaces [current]

newNamespaceManager := ShallowCopyNamespaceManager(currentNamespaceManager)

if err := newNamespaceManager.RebuildNamespace(namespaceConfig); err != nil {
log.Warn("prepare config of namespace: %s failed, err: %v", name, err)
return err

}

m.namespaces [other] = newNamespaceManager

current, _, index := m.switchIndex.Get()

commit

currentNamespace := m.namespaces [current].GetNamespace(name)
if currentNamespace != nil {
go currentNamespace.Close(true)

m.switchIndex.Set(!index)
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func NewNamespace(namespaceConfig xmodels.Namespace) (sNamespace, error) {
var err error
namespace := &Namespace{

func (n xNamespace) Close(delay bool) @
var err error

currentNamespace := m.namespaces[current].GetNamespace(name)
if currentNamespace != nil {
go currentNamespace.Close(true)

}
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// ConnectionPool means connection pool with specific addr o ~ohnections = util.NewResourcePool(cp.connect, cp.capacity, cp.maxCapacity, cp.idleTimeout)
type ConnectionPool struct { T
mu sync.RWMutex
connections *util.ResourcePool rp := &Resou rcePoo'L{
. - resources: make(chan resourceWrapper, maxCap),
user string factory: factory,
z:“"°m string available: sync2.NewAtomicInt64(int64(capacity)),
string . . X )
capacity: sync2.NewAtomicInt64(int64(capacity)), Eﬂ]?&l‘ﬂ
charset string idleTimeout: sync2.NewAtomicDuration(idleTimeout), L
collationID mysql.CollationID } N -
capacity  int // capacity of pool for i := 0; i < capacity; i++ {
maxCapacity int // max capacity of pool rp.resources <- r‘esourceWrapper{}
idleTimeout time.Duration }
}

if idleTimeout != 0 {
rp.idleTimer = timer.NewTimer(idleTimeout / 10)
rp.idleTimer.Start(rp.closeIdleResources) i

}

type resourceWrapper struct {
resource Resource
timeUsed time.Time




{&i&
e Ping?
o B, FEPiIngiNEIRES

o EELZFEEMN, CPUHREARIE
o ExNX[H+Retry | EBRAER

o idleTimeout < mysql wait-timeout

o reconnect not get again = for i =05 <3 dn

dc.Close()

e := dc.connect()
if e == {
break

}
}
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Context

o JEITcontextE I BRI IREVIEE

. —— LY
( COnteXt tlmeout}\eﬁ func test2(ctx context.Context) {
fmt.Println(ctx.Value("k1"))
resp := make(chan struct{}, 1)

o ERHUE X contextS ¥R AT LUBETEEIZ? "

time.Sleep(time.Second * 10)

@) _/:Eﬁ_ I goroutlnei%zﬂk ﬁ* ;g;}-‘_% - resp <- struct{}{}
o —TEB—"selectE#Rfresp. contextBIRS Eaeel NP

fmt.Printin(ctx.Err())
fmt.Println("timeout" )

case v := <-resp: // IEE 3
fmt.Println("test2 functlon handle done")
fmt.Printf("result: %v\n", v)

}

fmt.Println("test2 finish")

I

return
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e contextEM? &map?
o —ZRFILI ContextiZ HIIES Histruct
o 7zfi#parent contextsichildren context
o 1BIY AfterFuncg{goroutine1THEAIENTE
o valueCtxR B parent context, FRLAETNE MEE
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e SetReadDeadline. SetWriteDeadline
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SIEEIE-HE

NI E
® L-EHT_I-.LX readTick := time.NewTicker(c.ReaderTimeout / 2)
writeTick := time.NewTicker(c.WriterTimeout / 2)

_ defer readTick.Stop()
0O E-I- L\X égﬁg'l‘; ‘ﬁ'\lé |\|:U EDL-I_\. defer writeTick.Stop()
for !c.stop {
select {
case <-readTick.C:

o | \::‘EEE r——lziEiﬁggE A/
o ﬁ /E'L?E N 5 10\ = \Iﬁl if c.readFlag {
c.Sock.SetReadDeadline(time.Now().Add(c.ReaderTimeout)); err != nil {

if err :=
errors.Trace(err)
PAN--y Farax
o DHEIE )
c.readFlag = false

2

case <-writeTick.C:

if c.writeFlag {
if err := c.Sock.SetWriteDeadline(time.Now().Add(c.WriterTimeout)); err != nil {

errors.Trace(err)

}

c.writeFlag = false

}

}
c.Sock.Close()




o [JIB) HEeEE
o SHIEHE
o CPUEFERIR

s.tw.Add(s.sessionTimeout, cc, cc.Close)

cc.Close(()
cc.proxy.tw.Remove(cc)
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o GCEREAFEIHRE, NEF—HEKRR
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header: make([]byte, 4)
body: make([]byte, len)
return body

L ResultSet

\ﬁ‘u e L

GC? Az

data: make([]byte, len)
data=append(data, itemBytes)
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data, err := cc.c.ReadEphemeralPacket()
Execute(data)
cc.c.RecycleReadPacket()

sync.Pool

ResultSet

data := cc.StartEphemeralPacket(length)

cc.StartWriterBuffering()

write...
pos = WriteUint16(data, pos, value) err = cc.Flush()

pos = WriteLenEnclInt(data, pos, value)

cc.WriteEphemeralPacket()
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o Read->Execute(Response Everywhere)->Final Response

i

Read->Execute(return r)->Final Response
4 an[EHA
o HIF. [EBHRIERIXIZE]I—TEREA
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Go Runtime

e wrap pprof into http admin server

e runtime.MemStats. NumGoroutine to prometheus

e go-torch for Flam Graph
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Go Runtime
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e (¢lide

e git hook -> pre-commit

O

O

O

gofmt
golint
goimports

govet

godoc

Go Toolchains



Unit Tests

o FDBINEHIIRNEEIR

o BiinterfacetIRARSS, M RzZH
o NMNBERS

o go test -coverprofile=.coverage.out ./...

o (I

o commit/merge request -> gitlab pipeline -> all unit tests
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Integration Tests
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